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Il Semester B.Com. Examination, November/December 2018
(F+R) (CBCS) (Semester Scheme)
(2015 - 16 & Onwards)
COMMERCE
3.4 : Financial Management

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written completely either in Kannada or
English.

SECTION - A

Answer any five sub-question. Each sub-question carries two marks. (5%x2=10)

il a)' What is financial leverage ?
b) What is wealth maximization ?
c) What do you mean by stock dividend ?

d) Calculate the present value of ¥ 40,000 received after 5 years, if the discount
rate is 10%.

- e) State four components of working capital.

f) Initial investment of ¥ 10,00,000, residual value % 2,00,000, working life is
S years, additional working capital ¥ 1,00,000. Calculate average investment.

g) Name the two models used for valuing equity shares.

SECTION -B

Answer any three questions. Each question carries six marks. (3x6=18)
2. Briefly explain the various forms of dividend.
3. Mention the functions of financial management.
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4. The following information is available in respect of a product :
Units sold — 60,000
Sales price per unit —3 12
Fixed cost — ¥ 60,000
Variable cost — X 6 per unit
10% debt capital of ¥ 1,20,000
Calculate all the types of leverages.
5. A bank manager offers a scheme in which Mr. Mallesh gets ¥ 1,000, ¥ 2,000,
X 3,000, X 4,000, ¥ 5,000 at the end of each year for a period of 5 years at the

discount rate of 9% for a lump sum deposit of T 12,000. Is it advisable to invest
% 12,000 to Mr. Mallesh ? Advise him.

6. The initial cash out lay of a project is T 1,00,000 and it generates cash inflows
- 0f ¥ 40,000, T 30,000, ¥ 50,000 and T 20,000 10% rate of discount. Calculate
profitability index.

Years 1 2 3 4
Discount 0.909 0.826 0.751 0.683
factors at 10%

SECTION-C

Answer any three questions. Each question carries fourteen marks. (3x14=42)

7. Briefly explain the factors influencing the amount of working capital.
8. Explain the meaning, scope and importance of financial management.

9. Sonu Ltd., company has equity share capital for ¥ 10,00,000 divided into shares
of ¥ 100 each. It wishes to raise further ¥ 6,00,000 for expansion plans. The
company plans the following financing schemes :

a) All equity shares.
b) X 2,00,000 in equity shares and ¥ 4,00,000 in debt @ 10% p.a.
c) All debt at 10% p.a.

d) ¥ 2,00,000 equity shares and 4,60,000 in preference share capital with
rate of dividend at 8%.

' The company has estimated EBIT at ¥ 3,00,000. The corporate rate of tax is
50%. Calculate EPS in each case. Give a comment as to which capital structure
is suitable.
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10. A company is considering purchasing a machine. Two alternative machines are

1.

available machine — A and B each costing % 1,00,000. Earnings after depreciation
and taxation are expected to be as follows :

Years Estimated net cash flows
Machine — A (Rs.) Machine — B (Rs.)
1 30,000 10,000
2 40,000 30,000
3 50,000 40,000
4 30,000 60,000
5 20,000 40,000
Calculate :

a) Payback period
b) Net present value, at 9%.
Assume straight line method of depreciation.
The discount factor is as under :
Year 1 2 3 4 5
DF @ 9% 0.971 0.842 0.772 0.708 0.650
Following information is given to you, evaluate the projects by using return on
investment and NPV methods.
Project X ProjectY ProjectZ

4 X 3
Investment i 70,000 /80,000 90,000
Return at the end of 1! year 40,000 50,000 55,000
Return at the end of 2 year 30,000 25000 40,000
Return at the end of 3™ year 20,000 25,000 20,000
NPV may be calculated at 20% discount factor. ‘
Year 1 il 3

DF @ 20% 0.833 0.694 0.578
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CBRRTTTR DT BINET GUBOR. B& VIt AT £308. (5%2=10)
1. a) Tco%AR 3§ oD ?
b) R0y NOREBTED DO ?

C) AE TRYIR0B DOTTERD ?

d) 3¢ 10 5C3R0E BEAGY, 5 BRF T $033 Trodhena T 40,000 e B3
ab’ae% cﬁ%@&

e) ORIV WOBDPT CONT)TOTRTR 4 ©OBIRY, SR

f) oroswE womm¥ X 10,00,000, Feawgs #5°¢; X 2,00,000, THRCIVEI 5CHIE
5 SN, Bedsd TREIVT wornd X 1,00,000 =00, IR0 BRETOT,
BOTIGEBOND.

g) ARRT, FeBoNY &IV, 33T DVRD BRTONT), S92
QTN - W
BENS CRPTOTTR TITY BIRVT UBOR. B3 TIJ1t &S0 €208, (3x6=18)
2. DT P03 TRTNYSY, FodBwoN DT[OR.

: 3. TLITAT ABF DO EDQ'SJF'T@&E{ TRO.
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4. 2,000 wéﬁcﬂ 72880330 BHFOBOST -
P3N =evoes — 60,000
%OT FeBT Rowos3 WS~ 12
0 253 — ¥ 60,000
@ 3
wBoONRS 33, B3 Pe3sE —T 6
2d .
Be. 10 § H© ok - T 1,20,000
D), WO RV, (Leverages) Sgzos.
5. 2000 méo%d q?zﬁm@au’% 2,003 03ReRH00 BRBH0E T 12,000 ﬁ%"a’% Se. 9 B 003700
3336 8¢ Se3e3H T 1,000, T 2,000, T 3,000, T 4,000 3582 T 5,000 7R T2

SRED @oézscﬂq 5 SRFNR¥R0R wdotwEs. X 12,000 Ny DHABFOID "m:ajﬂe 92 BB
e '

6. 1,00 clerodn TS S Be8 B0 T 1,00,000 252 BF3 SR> wiBOD
T 40,000, T 30,000, X 50,000 ESOE%JJ % 20,000 ﬁ%*a‘igté’@. 10 T Do3RCDS TR,
VBRI, AT LB mmﬁoﬁdd‘a eiﬁ&mé.

Years (SReRD) 1 2 3 4
3e. 10 S 0odod  0.909 0.826 0.751 0.683
©03
TN - A
CIRFTRTSR 3 BN evgdr. T3 TI7i 14 €908, ( (3x14=42)

7. DOHREHOR WOBTYS FRIT e Feows WeddR 03RYRY, AodFemN HI0R.

| 8. BeomoAd ABFBBOD BB, Wy B3 BBV, HWOA.
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8.

10.

AREI VOB FoTAOI AR, Fedd woBme¥ T 100 3 R0edssedd I 10,00,000
NYaNTIZES. FoTROTN 33 DRTE odression R 6,00,000 YRy, TR BRTT.
270 %@%oza"oré’ DEITIRID wdéOdJﬁD O3ReAT.

a) DV TBRE, FeTon.
—am% ée&de‘) < 2,00,000 méo Je. 10 © eI %Eﬂ@ % 4,00,000.
c) «205p It 10 8o TZTA).

d) ERF, Feoned X 2,00,000 R03) 7,33 0, 3esondd X 4,00,000 3e. 8 B w03
aelalUN

300 EBIT T 3,00,000. 3023203 307 33 3¢. 50 Lol tofo! G 3033 ﬁ@?odacﬁa (EPS)
ds To% a&::e’o O3B WOBRWY TS w#mﬁcﬁ RO ROB e

20T BOTACKD 20730 0300Z ), DOEBRED TOMRESRITS 008 — A 332 B. B8 0320303
e3¢5 X 1,00,000 =e359 =03y 307303 S03T %c—’fooda noE 83 350008 DOESHTING.

SR O VTP SN TOY
o203, - A (%) o003 - B (%)
1 30,000 10,000
& 40,000 30,000
3 50,000 40,000
4 30,000 60,000
5 20,000 40,000

a) HoTOWE BT

b) dF,$ TRYE &3Py (NPV) 3e. 9 SBT3, BT RDY ARFTY R
DOIODS 903N :

R 1 -2 3 4 )

dodnode woz  0.971 0.842 0.772 0.708 0.650
(@ 9%)
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11, 29308 RNWI0TD VERTOS, BRARTOD Boed Nvd B TR AR W°Y (NPV)
&)@6?@&4 UBO3ReNR oimeuéodoa’sg{ab‘aqseém.

o3nemsd X oSnems Y oSnensd Z

4 < 4
BRRE 70,000 80,000 90,000
Segduse IRFT o33 Y8 40,000 50,000 55,000
SOBRSe BRET WIT 193 _ - 30,000 25,000 40,000
RTSe BRFT 8:303553 ned 20,000 25,000 20,000

BRYB AR Y #5°¢, (NPV) =0, Be. 20 3 DO3RO0S 2035Y), SBT3,
TR 1 2 3
D035n0Hhe o3 @ 20% 0.833 0.694 0.578




